Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - SUMMER- 2017

Subject Code: 3350501 Date: 02- 05- 2017
Subject Name: Industrial Management
Time: 2:30 PM to 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten. €2l SlEUBRL Ulctotl scllol UL, 14
1.  Explain “Delegation of Authority”.
Lo “Uxlloll AURl” AHestal.
2.  Give four advantages of centralized storing.
. Bdld RR sldlotetl uR GuAdL AW,
3. What is Economic Batch Size?
3. 8sloll®s AU e WA 9 ?
4.  Enlist different types of system variables.
¥.  yeudlet el ael A A€l slollall.
5. Enlist four main qualities of a good leader.
W AR alctlotl AR 2Rls(l ALEl olotla.
6. Define productivity.
5. Ussdl@dlell carvaul vl
7. Write four symbols used in making the Gantt chart.
9. dlg ARHL duRldl AR Ruolldell auél cul.
8.  What is Float and Slack?
¢. A2 ol WAse{l cautvul AL,
9.  What are the various Inventory models?
¢.  Sddl 3 ol Usl cull.
10.  Application of organization structure.
0. B3l Ralol HioUH Lol A@AF2ot 4L,
Q.2 (@ Explain Various objectives of management. 03
Y2 (W) RNolNoeell MuRsdlal Al 03
OR
(@ List the functions of Management. 03
()  UUAotoll st2lell el olotlal. 03
(b)  Explain briefly codification of stores. 03
(W)  RARej AsUsWU SHL AHAl, 03
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OR
Explain two bin inventory model in detail.

2 ollot Sotddl N3t Al
Classify the waste and explain the need for waste control.
wolLse] calls0L Avll U wlols vigaell s3Rald UM

OR
Explain Functional Organisation

sl2Alof AR HANall8B2lot ARl
Explain any two functions of a storekeeper.
@R SlURell A slall AHIAl

OR
Explain ABC analysis with appropriate diagram.

ABC Aollc{l{lal Aol 2002 stAaUH U adAl.

Explain the factors influencing job satisfaction.

o A AR WAUR Ul Ul AHesL el
OR
Discuss factors affecting Organisational culture.

UINALSR2Aot SEAUR U HUUR $cll UIlolol UL
Explain the Questionnaire Technique method of Value analysis.

A AelllARR ystacll utudl Axesal.

OR
Differentiate between job order production and continuous production
system.

Bl WS BUlEol AUl Aol Ul GUlEol el A dslad

oLl
Explain Scientific management.
UARGls AalNoe adlcl..

OR
Explain functions of PPC -Production, Planning & Control.

Ulsslel Welo{lol Aal $2\ctotl S0l AHstall,
“Store is the Heart of a Successful Industry”- Discuss.
“5le URL GEllol HI2 WHell RR ([Aeldl g AHLet B ([AAUst 53

OR
Explain Committee Organisation.

sHIZL QN8B 2Lot Q.

Write short note on purchasing procedure.
Wile scloll I gsul uMestal.

OR
Explain types of Gantt Chart.

Ao AULEall YUsIA AW,
Write a short note on Workman compensation Act.
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asHot SLAAAGL As2 UR gSollel AUl
OR
Explain Industrial Dispute Act.

SosUglaud (g2 Ase UMesAl.

Draw a network diagram and indicate critical path on it based on following
details:

Activity A B C D E F
immediate - A A B,C |B D,E
Duration(days) 5 3 6 5 4 7
ol rRUAE (Bl HIZ LA Kol AUl 5253l U tLctlcl.
Ball A [B [Cc [D JE F
detell yAouHl Gau |- A |A |BC B |DE
AHA (Bay U |3 s |y ¥ 9

Compare CPM and PERT.
CPM 33l PERT ol dctsll 8.

Determine the EOQ from following data:
Total annual usage: 24,000 units, Ordering cost Rs. 270 per order, Cost of
item Rs. 5 per piece, Inventory carrying cost 20% of unit cost.

ol Ae{l HUEAlotl AUUR EOQ 2100
cl®s cuRLel: 24,000 Y[R, BUSIV0L 5Re: Rs. 270/, WIS H SlR2:

Rs. 5/l 8l Slee- Yolle S22 ol 20%
Explain Factory Act 1948 in brief.

$5e3l As2 1y ¢ AUl

Explain ‘DARASIRI’ method of value analysis.
yed (A2Anaell £ {11 utudl Ames Al
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